
NA-av. Kf = 1·10-5 m1 - 2m yr-1

NA-av.  = 5 mm yr-1vx
NA-av.  = 10 mm yr-1vx

NA-av. vx = 20 mm yr-1

0

30

60

90

120

0
0

90

180

270

360

NA-av. RM = 1·10-4 m yr-1

NA-av. Kf = 4·10-5 m1 - 2m yr-1

NA-av. Kf = 1·10-6 m1 - 2m yr-1

NA-av. RM = 2·10-4 m yr-1

NA-av. RM = 4·10-4 m yr-1
NA-av. KM sand = 70, KM silt = 210 m2 yr-1

NA-av. KM sand = 100, KM silt = 300 m2 yr-1

NA-av. KM sand = 40, KM silt = 120 m2 yr-1

250

NA-4 RM = 4·10-4 m yr-1

NA-4 Kf = 4·10-5 m1-2m yr-1 NA-4 vx = 20 mm yr-1

NA-4 KM sand = 100, KM silt = 300 m2 yr-1

20.0 My 10.0 My

20.0 My 20.0 My

H H

SS
H

S

H

H

S

H

S

H

ore formation
mechanism 1

ore formation
mechanism 1 & 2

ore formation
mechanism 3

mechanism 3

(a) (b)

(c) (d)

S


